IR S
i
Tl BEIEREEM 15580 EEE
HE: KFIHF FS: 3200103860

HER: 20235F78 i ZR3-211

—. IRHESHERK

EiHES:

BRI FIERT (BSETRSHSER)

TER:
o HWNIHSIESERE: 10Hz~10kHz

DEASTER © 10Hz~100Hz (<99Hz) ; 100Hz~1kHz (<999Hz) ; 1kHz~10kHz (<9.9kHz)
o LSSIMTBUINEMR LIRR, EEBREEER, = RBFik

o MERENTEFET1%, MWARSEIAAT2s
o WMNKRZATLIR (BETNE, TERTER)

=, BRIHNEFBERIIE
1. BFREIER

— HlfESS

12 fil] FEL I

:lt_:.
s
Bl

2, ENESE
—RRME, MEUERTEEWSTHAFNNEER, ALIePRAMBTEH TR
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/NVA UL L

ERWFEijifﬁ f Eﬁr]ﬂiﬂg > fkiigg ﬁ%ﬁ%f@ﬁ%

Y

Y

A

B
Is ls_ T T

— HE Bit7
BBk X
A j_ﬁ_t
MBRET R/ FORkhARER—IITEGRE (B MESER) —iiEkT—E=hkh,
3. &ihdiE

1. BABUERIAIT D E

2. WEREREVHDLEAI M, FtToRIMENN, 1aESIERINEE
3. iR TREBlockiEL:, EESER

4. BTHRE, HENXERNETEE

5. RESMABHRANNFFARER, THREFER

6. FIMRHESRERBAFNES, RNEFREITIIEE

4, BRFERSIER
B75iE: BEERR (IETNHEFRIREIIINGE)
BIRROE]:

e TEATIN: FUESFIbIEER
o GATESIG: @SS RERBIE

e CNTLK: 10005314458

e display: EFZIFIOEREE

e LOCK: $lifFEsT

e AUTO: BmIEfEiEitiaH B
o TREBDFRIZE: EHESEHR

=, BRGIHRIFESR

1, TEATIN

prm)izl: R

INPUT: TEST—RRINES, S2—SRERIZHIES (15, ORESRR)
OUTPUT: CP—10003 i+ EREsHIARKH

1EERACHS

Library 1ieee;

Use ieee.std_logic_1164.al1;

Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY TESTIN IS

PORT(S2:IN STD_LOGIC;

TEST:IN STD_LOGIC;

CP:0OUT STD_LOGIC);
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END TESTIN,;
ARCHITECTURE behave OF TESTIN IS
SIGNAL temp:STD_LOGIC;
BEGIN
PROCESS(S2,TEST)
VARIABLE count:INTEGER:=0;
BEGIN
IF S2="0" THEN temp<=TEST;
ELSE
IF TEST'EVENT AND TEST='l' THEN
count:=count+1;
IF count<=5 THEN temp<='0';
ELSIF count<l0 THEN temp<='1l";
ELSE count:=0;
END IF;
END IF;
END IF;
END PROCESS;
CP<=temp;
END behave;

SCIRTHEE :
NS REIRERAT, S2=1, BMNSSEHT O,

FESAHERERRS, S2=0, MHESHRNGES.

(FEER:
Elainr Time e 0 pa - * | Ponierc |[E1Tm Inimrvak 21T e Shart Enct
—— T B0 DR 2408 ns 3M0E A0 55 480,05 OS5 405 a0 es SO0 A

Hame o DR

& TEST WO

& s WO
% o B0

ARHEPEERFEIRITENR.,

2, GATESIG

o imii LR

INPUT:

sec—2HZ{FS; S2, S1—4Ri=HES (OOfSRER, O1RiRER, 11340ER)
OUTPUT:

GOUT: @ ){ESHH

CLEAR: BZES, EXEEMERERER, SBEFEY

LOCK2: #7552, XERNEEFIHER, SBFEEN

BFRTER, SHEFAN

zZ=
==
=

LOCK1: #iFE51, 1%

1RIRES:

Library 1ieee;

Use ieee.std_logic_1164.al1;

Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY GATESIG IS

PORT(S_50M:IN STD_LOGIC;
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S2:IN STD_LOGIC;
S1:IN STD_LOGIC;
GOUT:0UT STD_LOGIC;
CLEAR:OUT STD_LOGIC;
LOCK1:0UT STD_LOGIC;
LOCK2:0UT STD_LOGIC);
END GATESIG;
ARCHITECTURE behave OF GATESIG IS
SIGNAL SEC:STD_LOGIC;
SIGNAL temp_clear:STD_LOGIC;
SIGNAL temp_Tlockl:STD_LOGIC;
SIGNAL temp_lock2:STD_LOGIC;
BEGIN
PROCESS(S2,S1,s_50M)
VARIABLE cout:INTEGER:=0;
BEGIN
IF S_50M'EVENT AND S_50M="1l"' THEN
cout:=cout+1;
IF (S2="'0" and S1='0") THEN
IF cout<=20 THEN
SEC<='1";
temp_clear<='0";
temp_lockl<="0";
temp_lock2<="0";
ELSIF cout<=21 THEN
SEC<="0";
temp_lockl<="1";
temp_lock2<="0";
temp_clear<='0";
ELSIF cout<=22 then
SEC<='0";
temp_lockl<="1";
temp_clear<='0";
temp_lock2<="1";
ELSIF cout<24 THEN
SEC<='0";
temp_lockl<="0";
temp_lock2<="0";
temp_clear<="1";
ELSE cout:=0;
END IF;
ELSIF ((S2="'0" and s1="1") or (Ss2='1l"' and S1="'0')) THEN
IF cout<=2 THEN
SEC<="1";
temp_clear<='0";
temp_lockl<='0";
temp_lock2<="0";
ELSIF cout<=3 THEN
SEC<='0";
temp_lockl<="1";
temp_clear<='0";
temp_lock2<="0";
ELSIF cout<=4 THEN
SEC<="0";
temp_lockl<="1";
temp_clear<='0";
temp_lock2<="1";
ELSIF cout<6 THEN



SEC<="0";
temp_lockl<='0";
temp_lock2<="0";
temp_clear<="1";
ELSE cout:=0;
END IF;
END IF;

END IF;

END PROCESS;

GOUT<=SEC;

CLEAR<=temp_clear;

LOCK1<=temp_lock1l;

LOCK2<=temp_lock2;

END behave;

SCIRTHEE :

SITRSERRS (BIAESS251900) |, @I NESHIHGOUTA10s, BIEH20MNE2HZSSHIEF
it. ERERREHSIBEES, URISHERES, AENFESHIR0.SSMHiEFES2.

ST HSRERRS (BINESS2514901) BERIERRS (MAESS251910) |, M NESHHGOUTH
1s, BMZH2MRE2HZESH LG, REERABLH1sHMEFEES1, LRIsHERES, FEiiF
SSHIR0.SsEHBIFES2.

(FEER:

XA EERGEIRITEK,
3. CNTLK
i m il
INPUT:
enable: H#ifFEEES, SEFFeE
clear: It ESES, BBEEER
ck: THERKHMES
OUTPUT:
flow: itH#EsEHIER, SBEEE
cbait#iEsis. #. (K
=R
Library 1ieee;
Use ieee.std_logic_1164.al1;
Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY CNTLk IS
PORT(enable:IN STD_LOGIC;

clr:IN STD_LOGIC;
clk:IN STD_LOGIC;
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C:0UT STD_LOGIC_VECTOR(3 downto
b:0UT STD_LOGIC_VECTOR(3 downto
a:0UT STD_LOGIC_VECTOR(3 downto
flow:OUT STD_LOGIC);
END CNTLk;
ARCHITECTURE behave OF CNTLk IS
signal temp_c:std_logic_vector(3
signal temp_b:std_logic_vector(3
signal temp_a:std_logic_vector(3
signal temp_flow:std_logic;
begin
process(clk,clr)
begin
if clr="1" then
temp_c<="0000";
temp_b<="0000";
temp_a<="0000";
temp_flow<="0";

0);
0);
0);

downto 0);
downto 0);
downto 0);

elsif (clk'event and clk="1") then

if enable="'1l' then

if temp_a="1001" then

if temp_b="1001" then
if temp_c="1001" then

temp_c<="0000";
temp_b<="0000";
temp_a<="0000";
temp_flow<="1";
else

temp_c<=temp_c+'1";

temp_b<="0000";
temp_a<="0000";
end if;

else

temp_b<=temp_b+'1";

temp_a<="0000";
end if;
else
temp_a<=temp_a+'1";
end if;
end if;
end if;
end process;
c<=temp_c;
b<=temp_b;
a<=temp_a;
flow<=temp_flow;
end behave;

F)

1. THEThRE

FINREAT10% 10% 10FITEIEE, EHEUEATIRF-ERHES

imHESRIE



Valueat | jops BO.0 As 160,0 ns 2400 ns 320,0 ns A400,0 s 2800 na
Ops

Name
Ii— clk BO
Iﬂ- €lr BO
.i éna. B1
Is‘ > HO
.a *hb HO
o ra HO
& fow BO

480,0 ns 360,0 ns 540,0 ns 7200 ns B00,0 ns BB0,0ns 960,0 nz

2.75%. fEREThAE

Value at El:rps B0.0 s 1600 ns 2400 ns 20,0 ns A00,0 ns 4800 n%
Name o ps
RPE ||
dk  BO UUUUunrUUuUnUUU LU iU U iU unn s UL
clr BO
I

ena. B1
> HD
*b HD

LDEEEDEDEN
*a MO “

flow BO

PEEGEYE Y

3. EHTNEE

vaiueat || 290,0ns 300,00 00N 320,05

Ops

& <k RO AEAUARUARRA AR AU ARSI ARSI RTIIL
5 dr BO [ L
& ena. B
#rc MO
L BN H
®ra  HO
% flow BO

AP EERFGEIRITEK.
4, LOCK
%15 AR :
INPUT:
Lock1: SifFZEIES
Ci. Bi. Ai: gifFmAR. . KL
OUTPUT:
HZERO: BfIAEES, BBEFEN
Co. Bo. Ao: fiifF@HHE. . 1K
EREE:
Library 1ieee;
Use jeee.std_logic_1164.a1T;
Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY Lock IS
PORT(Tockl:IN STD_LOGIC;
Ci:IN STD_LOGIC_VECTOR(3 downto 0);

Bi:IN STD_LOGIC_VECTOR(3 downto 0);
Ai:IN STD_LOGIC_VECTOR(3 downto 0);
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C0:0UT STD_LOGIC_VECTOR(3 downto 0);
BO:0OUT STD_LOGIC_VECTOR(3 downto 0);
A0:0OUT STD_LOGIC_VECTOR(3 downto 0);

HZERO:OUT STD_LOGIC);
END Lock;

ARCHITECTURE behave OF Lock IS

begin

process(lockl)

begin

if Tockl'event and Tockl='"1l'

Co<=Ci;

BOo<=Bi;

A0<=A1;
if Cci="0000" then
HZERO<="1";
else HZERO<='0";
end if;

end if;

end process;
end behave;

then

SCIRTRE:
BHUEFESEAN (EFHERNE) | iFRHEFALZINSIERA, BEdiFaARN&ESA0, T
BHBAATESHZERO (BIBHEET) .
(FEEGR:

Value ar | |0 PS 800 s 160,0 ns 2400 ns 3200 ns A00,0 ns 480,0 ns

Mame ops 0ps

= lockl BO '_|----.-....-....---.-.|_|. ........ '_'!-.-.. ..'_l., e
Bra n4 ] X 1 X ] X 1] X ] E
T —— S R =5 + T,
> A HO 0 A 1 X 1 X 3 X ] )
5o HO L. 4 X 3] - - - N R
> B HD i 1 i 3 ¥ X
& > As HO 2 LA T f ¥
% WIE. BO
ARG RERAFEIRITER,
5. display
ERFASERER
Im 5488 -
INPUT:

D: FRSSEPUAZEA
OUTPUT:

S: iRRBEE7AAH
RIRICES

Library ieee;
Use ieee.std_logic_1164.al1;

Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;

ENTITY display_s IS

PORT(D:IN STD_LOGIC_VECTOR(3 downto 0);
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S:0UT STD_LOGIC_VECTOR(6 downto 0));

END display_s;

ARCHITECTURE behave OF display_s IS
BEGIN
PROCESS (D)
begin
case D is
when "0000"=>S<="1000000";--0
when "0001"=>S<="1111001";--1
when "0010"=>S<="0100100";--2
when "0011"=>S<="0110000";--3
when "0100"=>S<="0011001";--4
when "0101"=>5S<="0010010";--5
when "0110"=>S<="0000010";--6
when "0111"=>S<="1111000";--7
when "1000"=>S<="0000000";--8
when "1001"=>S<="0010000";--9
when others=>S<="1111111";
end case;
end process;

end behave;

SCIRThRE:

SEINT0~90T, FSIFERRRIANIRNIL IREE 7 EBRETDE BRI MEFRY 7
SMANMELGEERN, RPN /et 7 BRARS E 2 RAT7 .

(FEER:

Value at ll:i Ps 20,0 ns 160,0ns 2400 ns 3200 ns 400,0 ns 480,

Name o 0 ps
P

& D HO [i] X 1 X F i 3 X 4 X ] b
o> B1000... 1111001 b 0100100 i 0710000 b 0011007 b AT k)
JOns 3600 ns 640,0 ns 720.0ns 800,00 ns 8800 ns 9600 ns
i & X i 5. ] X 9 X A X B A C
 poooola ¥ 11100 ¥ 0000000 N oolomon ¥ TS i 5T B

FRHIER CREASEEE RN, HRE7TUBMASETFHENTIXRA:
"1000000";--0 "1111001";--1 "0100100";--2 "0110000";--3
"0011001";--4 "0010010";--5 "0000010";--6 "1111000";--7
"0000000";--8 "0010000";--9 "1111111";--&K

ARG EERFEIRITER,

6. display_s1

PPN/ N R SRR

% C1i5AB :

INPUT:

S2. S1: FT{ESREREIA
OUTPUT:

unit: FFEANFAEES 74 H
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dot: NRAIFIDER7 A

RERACES

Library 1ieee;
Use ieee.std_logic_1164.al1;
Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY display_sl IS
PORT(S1:IN STD_LOGIC;
S2:IN STD_LOGIC;
unit:OUT STD_LOGIC_VECTOR(6 downto 0);
dot:0UT STD_LOGIC_VECTOR(2 downto 0));
END display_sl;
ARCHITECTURE behave OF display_sl IS
begin
PROCESS(S2,S1)
begin
if s2="0"' and s1="0"' then
unit<="0001001";--Hz
dot<="101";
elsif s2="'0" and s1="1" then
unit<="0001001";--Hz
dot<="110";
elsif s2="1' and s1="0" then
unit<="0001111";--kHz
dot<="011";
else unit<="0001110";
dot<="111";
end if;
end process;
end behave;

SCIRTHEE :

LTSRS, INUREIHAX XX, FFSAEHAK (KIS ETR4565E

=R ER)

ST ERRS, INUREIEIXXX., FFSAEHIH
STTRIERRS, INUREHIXX X, FFSAEHIH

hESER:
value at | 0 pS B0 ns 1600 ns 2400 % 32040 ik A00,0 s ABD,0 5 5600 n%
M o
Dps [
S B0 LI T N 4 - O 10
¥rde BN |D———— | T S T | &7 A T T 1 T
@ > ounit  BOOOT O001001 I 001111

AR CREMEREETN, HENE7MASETFREUTXER:
"0001001";--H "0001111";--K

SHFINEREI, B TRR:

“110%--XXX. “101"--XX.X “011";--X.XX

A, =S251900 (RIFHESER) | HHunitf SN FRH, HHtHdot IMXX.X
25251901 (ZFH3AER) , MHuUnitIR=FRH, Bt dotRIRIXXX.
S251910 (IFESMER) , MHuUnitIRIZFRK, Bt dotRIRIX. XX



HRHTREERNGEIRITERX,
7. AUTO

Stlsreagidesh

pmii LR

INPUT:

FLOW: it#ismtHis

HZERO: IHERISAYS0fER
LOCK: giifzhkiH

OUTPUT:

S2. S1: SMERIEHIES

OVER: it#i@HES

RIRIES:

Library 1ieee;
Use ieee.std_logic_1164.al1;
Use ieee.std_logic_arith.all;
Use ieee.std_logic_unsigned.all;
ENTITY AUTO IS
PORT(FLOW:IN STD_LOGIC;
HZERO:IN STD_LOGIC;
LOCK:IN STD_LOGIC;
S2:0UT STD_LOGIC;
S1:0UT STD_LOGIC;
OVER:OUT STD_LOGIC;
TOF:0OUT STD_LOGIC);
END AUTO;
ARCHITECTURE behave OF AUTO IS
signal temp_s2:std_logic;
signal temp_sl:std_logic;
signal temp_over:std_logic;
signal temp_tof:std_logic;
begin
process (FLOW,HZERO)
begin
if LOCK'event and LOCK='1l"' then
if FLow='1" then
if temp_s2="'0"' and temp_sl='1l"' then
temp_s2<="'1";
temp_sl<='0";
temp_tof<='0";
temp_over<='0";
elsif temp_s2="'1"' and temp_s1l='0"' then
temp_over<="1";
temp_tof<="1";
elsif temp_s2="'0"' and temp_s1='0" then
temp_s2<="0";
temp_sl<="'1";
temp_tof<="0";
temp_over<='0";
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end if;

elsif HZERO='1l' then

if temp_s2="'0" and temp_sl='1l"' then

temp_s2<='0";
temp_sl<='0";
temp_tof<='0";
temp_over<='0";

elsif temp_s2='1" and temp_s1='0" then

temp_s2<='0";
temp_sl<="'1";
temp_tof<='0";
temp_over<='0";

elsif temp_s2='0" and temp_sl='0' then

temp_tof<="1";
temp_over<='0";
end if;
else temp_tof<="1";
temp_over<='0";
end if;
end if;
end process;
S2<=temp_s2;
sl<=temp_sl;
OVER<=temp_over;
TOF<=temp_tof;

end behave;
SCHRTDRE
SERKREIARS (EFHE
SETHU TR, SatEsSE,
SRERTHUTPIERAT, SatESE,
SER, Eth, SRERAEE
SETHU TSR, SatESE,
70) ; EntESTHEBRMNIESER,
(FRER

1. FLOWFOIHZERON—1MERK

NSRS ;

NEEE=SMER

Hits,

NBRERAZ, EATSGEHES
EEZ=rhiRER; Hith, SHERAZE

SMERANZE

; AmESEHESMIES

B, WEZER

(BRI st ES1

. Value a1 | 0P8 B0 A 60,0 Fric 2E00 i 3R00 A A00,0n% 4800 s S60:0 i S&0,0
"By iansnas g EREEEE o mn iy B RN pEEEERE I
& FLOW BO | | 1
i WIE. BO ) ————
¥ s 200 7] 1 (7] 00 o1 b 10 ! o1
= OVER RO | e

2. FLOWFIHZEROIBER

Value at | |0 PS 80.0 ns 160,0 ns 240,0ns
Name 0ps 0ps

= LOCK BO 1 [ [

= FLOW BO I r____L——————
| [ ¢

& HZE. BO |

w@ 35 800 1 00 X 01 X 10

e
‘= OVER BO ‘

3. FLOWFHZEROITTRH



Master Time Bar: 0 ps

value at | (O ps

Painter: 13,86 ns

Imberval: 13,86

800 ns 16000 ns 240,0 ns 320,0ns 4000 ns
M Dps 0ps B
- LOCK BOQ '_l '_l _| '_|
& FLOWBD |p———— ) . - | I T I S O O O I
- HZE.. BO . |'
& 5 pog | f———————— 00 A R T N T I - A T 10
= OVER BO

AR EERFEIRITER.,
8, Eigit
SIFERIER

TEET

- Trs disoiav
o o i ok [ —
inst. T t Si6. A
e n —_— y
w w2 7 2 an
ok al3. { Aol3.
fo— — Aif3.t HzeR|
= W L
SRR S RE e gy
e [
0 sk S e e
nst
disdiay
« SI6. = HEX1.DIE..
=
FLOW A T
HZER! rrrr HHEEES
—|{Loc OVEl QVE.
: o B R
H H H H i L 1L H B H N
5 unitfs. HEXOLDIE...2
T B a2 - gD

% iR :

INPUT:

fin: FIBERES
sec: 2HzZES

OUTPUT:

HEX3_D[6..0]. HEX2_DI[6..0]. HEX1_D[6..0]. HEXO_D[6..0]: 3. 2.

OVER: MRIHBEREES
dot_D[2..0]:/ &5
fmiFiEI

inst.

1. OSEEEUES
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Task
v P Compile Design
> P Analysis & Synthesis
> P Fitter (Place & Route)
>

P> Assembler (Generate programming

AR S SR SR

> P TimeQuest Timing Analysis
> P> EDA Netlist Writer
B Edit Settings

'& Program Device (Open Programmer)

9. HNSREE125HZAYAE M

Master Time Bar: 0ps <+ Pointer: 346805 Interval: 34.68 ns Start End:
Valveat | [0ps 12pus 25pus 38us 51zus 64us 768 us 89pus 1024us 1320 12pus 1208 us 1536us 1664 us 17.92us 192us
Name Voue g E
b sec  BO S e O O O O e O O O e O o S O O g g Yy Oy O Oy A o gy T
& fin BO I
# > dotD B101 101 110 o011 10
¥ > HEX.. 80001 0001601 0001111 T T
&> Hex 181000 G00000 0010010 0100700 0010010
C X X
e T IERERE R SREERR s amema iR o]
# > HEX.. B1000.. )
% OVER RO ERESSREA

MBERN:

HEX3_D: 1111001—1

HEX2_D: 0100100—2

HEX1_D: 0010010—5

HEXO0_D: 0001001—H

dot_D: 110—XXX.

IHATRIEFERSHIN, SEAVRER R/ Z125.H

MAMBHERS, FERTER, TR,

M. FRIREEZER T

BRIRFPARAN, M MNaANRHROETIRE:
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‘@ dot_D[2] Output PIN_D22 B6_NO PIN_D22 25V

% dot_D[1] Output  PIN_A19 B7_NO PIN_ATO 25V
% dot D[0] Output  PIN_A16 B7 NO PIN A16 25V
& fin Input PIN_W10 B3_NO PIN_ W10 2.5V

% HEXO D[6]  Output  PIN C17
% HEXO D[5]  Output  PIN D17
% HEXO_D[4]  Output  PIN_E16
% HEXO D[3] Output  PIN C16
% HEXO D[2]  Output  PIN_C15
% HEXO D[1]  Output  PIN E15
% HEXO D[0]  Output  PIN C14
% HEX1_D[6]  Output  PIN_B17
% HEX1 D[S] Output  PIN A18
% HEX1_D[4]  Output  PIN_A17
% HEX1_D[3] Output  PIN_B16
% HEX1 D[2]  Output  PIN E18
% HEX1_D[1]  Output  PIN_D18
% HEX1 D[0]  Output  PIN C18
% HEX2 D[6]  Output  PIN B22
% HEX2_D[5]  Output  PIN_C22
% HEX2 D[4]  Output  PIN_B21
% HEX2_D[3]  Output  PIN_A21
% HEX2 D[2]  Output  PIN B19
% HEX2 D[1]  Output  PIN_A20
% HEX2_D[0]  Output  PIN_B20
% HEX3 D[6] Output  PIN E17
% HEX3_D[5]  Output  PIN_D19
% HEX3_D[4]  Output  PIN_C20
% HEX3 D[3] Output  PIN C19
% HEX3_D[2]  Output  PIN_E21
% HEX3 D[1]  Output  PIN E22
% HEX3_D[0]  Output  PIN_F21
% OVER Output  PIN_A8
b sec Input PIN_V9
<<new node>>

B7 NO PIN C17 25V
B7 NO PIN D17 25V
B7_NO PIN_E16 2.5V
B7 NO PIN C16 2.5V
B7_NO PIN.C15 25V
B7_NO PIN_E15 2.5V
B7 NO PIN C14 25V
B7_NO PIN_B17 25V
B7 NO PIN A18 25V
B7_NO PIN_A17 25V
B7_NO PIN_B16 25V
B6 NO PIN E18 2.5V
B6_NO PIN_D18 2.5V
B7 NO PIN C18 25V
B6 NO PIN B22 25V
B6_NO PIN_C22 25V
B6 NO PIN B21 25V
B6_NO PIN_A21 25V
B7_NO PIN.B19 25V
B7 NO PIN A20 25V
B6_NO PIN_B20 25V
B6 NO PIN E17 25V
B6_NO PIN_D19 25V
B6_NO PIN_C20 25V
B7 NO PIN C19 25V
B6_NO PIN_E21 25V
B6 NO PIN E22 25V
B6_NO PIN_F21 25V
B7_NO PIN_A8 25V
B3 NO PIN VO 25V

WETRAGE, HAProgrammeri# {7 .

12mA...
12mA...
12mA...
12mA...
12mA.
12mA.
12mA.
12mA...
12mA...
12mA...
12mA...
12mA...
12mA.
12mA.
12mA.
12mA...
12mA...
12mA...
12mA..
12mA...
12mA.
12mA.
12mA.
12mA...
12mA...
12mA...
12mA...
12mA...
12mA.
12mA.
12maA...
12mA...
12mA...
12mA...

ult)
ult)
ult)
ult)

_.ult)
..ult)
..ult)

ult)
ult)
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